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1. To solve some of the problems of sampling, it is recommended that the researcher use
.................... .( \foy c‘;w:.\g.ﬂ QL)") B sl cuir‘)jj,.g 9 ul}yTw'-\."é:.«:‘ O}A}T)
1) A large sample 2) A random sample

3) Repeated measures 4) Standard procedures

ol 2amo | 63y jS 11 Jlgw oy TSNALF Gulii IS Guwly

2. The standard deviation of the differences between the means is sensitive to

(\f°\~ cd.u:.lia'l Qb} BoL) ‘J’)}Jﬁ 9 w":}yTw‘.\:&m' O}A)T)

1) The number of subjects in each group ~ 2) The standard deviation of the means

3) The deviation scores 4) The square root of deviation score

ol 2a200 | o3yjS P Jlgw oo TSNA.ir ubuilS aaly
standard deviation of the differences between the ) laguSolio ¢ Ciglas Lo 81201 (5ol Gl Julzi 5o
63905 2> 3i5lo lolge 6g ko (ol il yaSolio Cuglas (5 3y s b S3aS| gy ol juo sosassyLis (Means
ol eiunlg 0g S o 4>
Sl Gy | oajS Iy
Cglas Jlwo Byl ((t ygo)T 4o Win) S g 1) 6938 95 (aSibo g gles panlgdo LBy @
3850 4148 (sample size) og S j 31481 Slaey Sl iz laguSobe
O2S0Lo (a2 (g2 dgaln0 iaS oSl Ciglad jLeo Bl 20l (bl yidin 09,8 53 3131 Slass e e
-390 S8
(Uiisiano t-test ) g0 ol byl pib pal 53 Ugaso 65 Jgo s

53 St

SE = \[2_" + F

(Cu.ul Jlso Bl =l jl Gl 9) L uSoluo coglas Syl soliwl (glhs = SE
9> 9 Jsl 69,8 Jlso 31yl = ST g SF

095 o 3 3148l slass =17 27
-3ob50 JiaslS (logpuSabio iglas SD ¢l plu g) SE US jIado c3ubly yiden N 6250 a0 65 jgbyjlass
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3. Manipulation, measurement, and selection of variables are major factors contributing
of research.
(VoY (oSS L3 53 s 5 G 38T (o] (5 303T)
1) The internal validity 2) The external validity

3) The conclusions 4) The history

Wl 21200 | oS = Jlgw oy TSNALIF Lulud 1S iy

oiuulg Jukio 55 6303 Lio Ol ks LT 68 Cunlieo ¢l 60 (Internal Validity) o9, jluicl «gui=s gy g3

.03 b cuwl 0395 (independent variable) Jatiuwo juskio (580w sblooy =3lg (dependent variable)

sesLw ylu oo
301030 s el (ol jo b jSel5180) (55503 Jolge b S3um 350 Gl |y Jgheo 9 Cule i 360 G825 ol LT
Sl Cawgs | oay S 12

- Siadgy bawgs Jiiuwo pudio (530e juk ey L jusio (5 85ws) Manipulation e
iulg o 6ag60 o jukio Ga8S Uhmiw iy (5 S j1sol) Measurement e
Jolge JiaS b 83> g cuwlio gl jsiio 38> Ll Jolib (Lo juio L) Selection of variables o

ol ol jo

O195505 3B L jukiio (59 SIS JiS JSI g2 3313850 il Gaiay (395 el jo losdtuno 5 )lgo il Sosd
ol 63 ki el Jiiuo puio 68 S lusbl U

4. The relationship between the independent variable and the dependent variable is that

(VFo¥ (eSS 515 s cGora g 9 o 5e] (ol & 50 3T)

1) scale-function 2) cause-effect

3) testing-teaching 4) measured-unmeasured
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Cunl @uzuo b oS 1 Jlgw o TSNALIF ol IS Sl

bugi 68wl (g o (Independent Variable) Jéiuo jukio «o2i Oliai=s 5> 0jag00 «(Guabas Jbgy o

SSguls g 2 5SS Jukiin gy 9T 451 U Sgunso J S b gy Seiws jSuiiag o

oz gl g3 Jakwo pukio g3 juds jl bl OIS S Cuwl (5 ko (Dependent Variable) sciuulg jusio

.3guln 50 6l L

«uwl (cause-effect) e okl « uio 93 cpal G 0l (Jd> pso o

e — o e i °

(o) Joloo — oliunlg jukio @
Oz 1 9ol ol S 6 uSSL Gljao g ST e g95 il 68 39 w0 s 3 S

(cule) Jbiuo jukio = a5 gy ©

(Ugl=o) oiiunlg jukio = 5 S5k yljuo @
sldeiy JS ol

O obuly 6y g o GaBal gy S ek ;09880 wuS )i il (> Slac—ulido) scale-function .|

aS05 oLkl L juRio

bl Cslo 6y 03 31 0 Lkl i jgoT (slasiTyd ou oS ol (s 33—51S8090)T) testing-teaching .¢

e juiio (5 450 1331 Cusadg 6y 630 JS ol 303855 156 1351 —63udn 5 3156 j1s3l) measured-unmeasured .

180 bl Gle odasl j 60 po jL g 3 15 o Lkl

5. Consistency of the obtained scores on a test refers to the .................... of the test.
(\fv\" cd.u:.li.ﬂ Olg) L] L&)}ﬁ 9 &J’y]’w‘m‘ U}")T)
1) Validity 2) Reliability

3) Variance 4) Standard deviation
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ol 2aza ) 6y S 0 Jlgw o TSNALIK Gulid S by
-cuwl T (Reliability) ubb <95 (90T Su pgo LS jug jl oSy wiixim 9 G825 gy >

alizo byl i 53 b gloj Jgb 4> ggoT il sad 6 a3yl 5S35 9 Olid gl juo i bl

(ouliinn byl s 53 09 S Ly 335 (lass sl 1) S 3495 Lo 2oL 9 Sgib |21 b )L g s b 90T S|
ol (reliable) Ly ¢gojT G Sguiu 0 6348

9850 ((630T w0y Ol ya3 LS5) "Consistency of the obtained scores” pugS,o i89 el ol

Ll ggo T bl FIEN
06358 b ooy 2

(w2190) Validity .

LITELLDmlyowujéw‘mul_uulJIJB&SIJGJ.DUTAD&DLJUSDJ’T&S)JI)OJL&UIL}JIOJL:.JISJ

SaRhnz0 | Ol 195 8819 Sl gL pgoT

Ol o3 SLS 69 83 «luwl bgy o 1920 (Siw S 82 219 9

(usbylg) Variance .p

o2l b b 5oy Lin ol (a0 Glis |y bvesls (SaaShyy gl 68 uwl (5ol jladoe Sy Juwilylg
s g0 JT

(slamo w31 ,201) Standard deviation .

3,135 90T 2L P9gan b pulime bl )l g «iuwldos]s GS3iS| 4 5l JS0d 6 )lol yadlis Sy ps ol

o 4

ugojl o G155 L ol = Reliability

w991 lgizo (j3gs Luwlio g siws = Validity

6. The main differences between ML A and APA are place of the date and ...................
(VoY (ST L5 3 s 5 538l (o] 5 03T)
1) Capitalization 2) The place of publisher

3) Author's first name and family name 4) using full fist name in APA
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